Fix Template Optimizing Issue
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Template Optimization

[3]: test_circl = QuantumCircuit(2) e Templates
do _
test circl.cx(0, 1) Matchlng Test
test circl.rz(0.42, 1) <—M Ist
test circl.cx(O0, 1) ql “Z at . Tembplate
test circl.draw() Q4 | =
d
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3rd
[4]: pass_ = TemplateOptimization(*xrzx_templates.rzx_templates())

templist = pass_.template_list Template

#tdag form
circuit_dag_l=circuit_to_dag(test_circl) 4th
passtemp = pass_.run(circuit_dag_1) Temp[ate

dag_to_circuit(passtemp).draw()

= Goal of TemplateOptimization': Makes more efficient circuit for hardware using known templates.



Template Optimization
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Input Reduce TWO CNOT gates(complicate)
Circuit : g1 =N 7, L8 = to SINGLE Rzx gate (simple).
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Matching part : % Templates represent identity operator.
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Bug
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A bug is happening

(/ssue . Qiskit/qiskit-terra#6974)




Error Analysis & Debugging
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Matching part :=Doesn’t match, but the code say they match.:
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= Cause of Error:

TempleteOptimization’ doesn’t consider parameters of gates while finding list of matching part

* Debugging Direction :

compare parameters of gates while finding list of matching parts.



